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AC=AC'=A'C"=bt4+5%%, AB=AB'=AB"=pbTh %,

4A'=.9<%,4A"=ﬂ—9e¢z>e

BC? =b? + p®b?> BC=by1+ p?

B'C'2 =b? + p2b? —2b- pbcosd=b2(L—2pcosd+ p?) B'C'=by1-2pcosd + p

B'C"2 =b? + p?? —2b- pheos(z — 6) =b?(L+ 2pcosd + p?)  B'C"=by1+2pcosd + p?

B'C"-BC=p(BC-B'C) LV

b(\/1+ 2pcosd + p? —\/1+ p?)= pb(\/1+ p? —\/1—2pcos¢9+ p?)

b>0ThH D15 (1+p)\/1+p2=\/1+2pcos.9+p2+p\/1—2pcose+p2 Wi 2 LT

A+2p+ p?)A+ p?)=1+2pcosd+ p? + p>(L—2pcosd + p2)+2p\/(1+ p?)? —4p?cos’

1+2p+2p%+2p° + p* =1+2pcosd +2p? —2p°cosd + p* +2p\/(1+ p?)? —4p?cos® @

2p(L—cosh) + 2p3(L+cosh) = 2p\/(1+ p%)? —4p?cos® 6

p>0THBNE  1-c0s0+ p2(1+cose)=\/(1+ p®)? —4p®cos’ 0 [ 2T LT
1-2c0s0 +cos” 0+ 2p?(L—cos® 0) + p* (L+2cos +cos” ) =1+ 2p? + p* —4p? cos® 6
—2c0s6 + cos® 6+ 2p? cos® 6+ p*(2cosd + cos? ) =0
—2(1—p*)cosd+ (L+2p? + p*)cos® O =—2(L— p*)(L+ p?)cosd + (L+ p?)* cos’ H=0
1+ pz)cose{(1+ p?)cosd —2(1— pz)}zo

cosd=0k Y (1+p?)cosd—2(1-p?)=0 .. cos@:zi_—;’;)
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